PKR-03
Parts Kits Reference

Liquid Level Control
Rapid Purger

PACKAGED WITH PURGER

GAUGE TO BE
PACKAGED WITH
PURGER

g

PRESSURE SWITCH

TO BE PACKAGED
WITH PURGER\

LIQUID DRAINER IS
PACKAGED WITH PURGER

FING SPeg,,
e %

=

[y S 1111 s = e
,_I

20

TR

Refrigerating Specialties Division

114



PKR-03 Liquid Level Control
Parts Kits Reference Rapid Purger

ITEN PART DESCRIPTION [ o1 ] PART NUMBER
1 ENCLOSURE ASM.PURGER  INSULATED 1 206178
2 |HEAT EXCHANGER PURGER 1 309442
3 |PIPE ASM,PURGER LIQUID LINE 1 206268
4 |PIPE ASM.PURGER _LIQUID LINE FLANGE 1 206271
5 |PIPE ASM.PURGER PURGE LINE 1 206269
—— 6 PIPE ASM,PURGER PURGE LINE FLANGE 1 208270
LL SWITCHHEAD RANCO SWITCH, PROBE AND 7 |PIPE ASMPURGER LOWER LIQUID LEVEL LINE 1 206273
IS PACKAGED 4 WIRE TIES (TEM 14) ARE 8 |PIPE ASM.PURGER LIQUID LEVEL TANK 1 206280
WITH PURGER. PACKAGED WITH PURGER.
9 |PIPE ASMPURGER UPPER LIQUID LEVEL LINE 1 206274
10 |PIPE ASM.PURGER VAPOR VENT LINE 1 206272
" PIPE ASM,PURGER BUBBLER LINE 1 206277
) 12 |SWITCHTEMPERATURE PURGER 1 309436
13 |INSULATION,PURGER _ RANCO SENSOR 1 309581
14 |TIECABLE 12 LG STAINLESS STEEL 4 309570
- 15 |CK VLV 1/2 CK4A-2 3 101047
R [l T 16 |RINGADAPTER MAR 13 1/2 MALE 3 300006
o 17 |STRAINERDISC 1/2 60 MESH 2 201194
18 |BOLT.HX HD 7/16—14 X 3.750 4 309562
19 [GASKET, 1000 ID 1250 OD 063 NON—ASH 19 301628
20 |BOLT,HEX HD 7/16-14 X 2 4 309563
21 |BOLTHEX HD 7/16-14 X 5 2 309561
22 |NUT. 7/16-14 316 SS 10 309567
23 |TUBE.LIQUID RETURN PURGER 1 309564
© | 24 [CONNECTORTUBE ELBOW 3/8 TUBE X 3/8 MPT 316 S5 1 309509
25 PRESSURE CHECK VALVE PURGER 1 309438
26 |PLUGPIPE 3/B NPT HEX 316 SS 1 309529
27 |VAPOR VENT FLOAT PURGER AS PURCHASED 1 309443
28 |PIPETHD 316 SS3/4 X 2 LG SCH 40 1 300517
29 |PIPETHD 316 SS 1/2 X 5 LG SCH 40 2 309565
30 |HD VLV, 1/2 FPT SC GL PACK CAR PTFE O-RING 4 103322
31 |UNIBODY 1/4 ANGLE M X F 2 106620
32 [soL viv, SBN 2 100990
33 |STRAIN RELIEF,PURGER 1 309523
34 |REDUCER,PIPE 3/4 MALE X 1/2 FEMALE 1 309547
35 |CLAMP,HOSE 4-55 DIA PURGER 2 309577
36 |SCREW.PAN HD 10-24 X 1/2 LG 316 SS 2 309572
37 |WASHERLOCK #10 EXTERNAL TOOTH  STAINLESS 2 309505
38 |NUT, #10-24 316 SS 2 309553
39 |NAMEPLATE, PURGER 1 309579
& To EVE\T:’ASERAEES 40 |FLANGE,SIZE NO 13 1/2 PORT X 1/2 FPT 4 300010
41 [BOLT.HEX HD 7/16-14 X 5-1/2 LG GR 5 2 301895
42 |NUT.7/16-14 STEEL 4 301825
43 |STRAINER, 1/2 RSF_ 60 MESH W/PIPE PLUG 1 106422
44 |REF REG, A2A RNG A 1 100052
45 [BOLT.HEX HD 7/16-14 X 5 LG GR 5 2 301905
46 |DRAINER,LIQUID ARMSTRONG 11-LD 5/64 ORIFICE 1 309625
47 [INSTRUCTIONS,PURGER RANCO TEMP. CONTROL (NOT SHOWN) | 1 309626
48 [INSTRUCTIONS,PURGER PENN PRESSURE SWITCH (NOT SHOWN) 1 309627

TO BE PACKAGED
WITH PURGER

—1
T T wm -
-

Refrigerating Specialties Division 115




	Pressure Regulators
	A4A, A4AO
	20 mm
	25mm
	32 mm
	40 mm
	50 mm
	65 mm
	75 mm
	100 mm

	A4W, A4WOE
	125 mm
	150 mm
	200 mm

	A4A, A4W Modules
	Moduadapter
	S6A Solenoid Pilot
	S6B Solenoid Pilot
	A2D Pressure Pilot
	A4A Pressure Bonnet
	A4A/A4W Temperature Bonnet
	A4A Motor Bonnet
	A4A Electronic Pilot

	A2A
	A2B, A2BO
	A2CK
	CFR
	A8A, A81
	A82
	A9
	(S)PORT
	(S)PORT II

	Flow Regulators
	AFR
	FFR

	Solenoid Valves
	S6N
	S8F
	SV2
	S7A
	S5A
	S4A
	S4W
	Remote Pilot Lights
	S81
	S82
	SC1
	SC2

	Gas Powered Valves
	CK2
	32-100mm
	125-150mm

	CK5
	32 & 40mm
	50 & 65mm
	75 & 100mm
	125 & 150mm

	S9A
	50-75mm
	100mm

	S9W
	125mm
	150mm
	200mm


	Check Valves
	CK1
	20-100mm
	125-150mm

	CK4
	Stop Check
	3/4" - 2"
	2-1/2"-4"
	5" - 8"


	Hand Valves
	Hand Shut-Off
	Hand Expansion
	Extended Bonnets

	Liquid Level Controls
	LL Float Switch
	Rapid Purger

	Strainers
	RSF
	RSW
	Stop/Strainers
	1/2" - 3/4"
	1" - 1-1/2"
	2" - 3"


	Bolt Packages



